Name _______________________________________

Quiz #2, Math 116, Autumn 2007

1. Consider the following preference schedule, and use it to answer the questions below.

	# Votes
	5
	3
	5
	3
	2
	3

	1st
	A
	A
	C
	D
	D
	B

	2nd
	B
	D
	E
	C
	C
	E

	3rd
	C
	B
	D
	B
	B
	A

	4th
	D
	C
	A
	E
	A
	C

	5th
	E
	E
	B
	A
	E
	D


a. Who won this election by the Plurality with Elimination Method? A
b. Rank the candidates using the Extended Plurality with Elimination Method.

A= 1st, C/D tied = 2nd, B=4th, E=5th.
2. Consider the table below.  Use the information to determine the winner using the Pairwise Comparison Method.

	# Votes
	8
	7
	6
	2
	1

	1st
	A
	B
	C
	C
	A

	2nd
	B
	C
	B
	A
	C

	3rd
	C
	A
	A
	B
	B


Pairwise Comparison Winner:  B
3. a. What is the difference between the recursive ranking methods and the extended ones?

Recursive: find one winner, throw out of table, repeat count from scratch.  Extended: use one count and rank based on performance in that count.
b. Describe the Monotonicity Criterion.  What has to occur for this fairness criterion to be satisfied?

2 elections, winner of first election gets more votes (and no one else), former winner loses new election
